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QUESTION 1

Which two pieces of information about a neighboring device are displayed when you use the CLI command show cdp
neighbor? (Choose two.) 

A. platform 

B. uptime 

C. device ID 

D. Cisco IOS Software version 

E. IP address 

Correct Answer: AC 

 

QUESTION 2

Which command initiates the transfer of a Cisco IOS image over IP from ROMMON? 

A. Xmodem 

B. copy tftp: flash: 

C. copy flash: tftp: 

D. tftpdnld 

Correct Answer: D 

 

QUESTION 3

Which two IPv4 addresses can be assigned to a host computer? (Choose two.) 

A. 255.255.255.255 

B. 10.1.1.20 

C. 0.0.0.0 

D. 192.168.10.15 

E. 292.10.3.4 

Correct Answer: BD 

 

QUESTION 4
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An Ethernet interface is up and the line protocol is down. What are two possible causes? (Choose two.) 

A. There is a speed or duplex mismatch with the remote device. 

B. There is a Layer 2 mismatch in the encapsulation type. 

C. The Ethernet interface has been manually disabled. 

D. Keepalives are not being received by the local device. 

E. The Ethernet cable might not be attached properly. 

Correct Answer: AB 

 

QUESTION 5

Which command displays the configuration register setting? 

A. show flash 

B. show running-config 

C. show version 

D. show config-register 

Correct Answer: C 
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